
 (A-33) P. T. O. 

 Roll No. ...................................  

DD–2372 

M. A. (Previous) EXAMINATION, 2020 

ECONOMICS 

(Compulsory) 

Paper Second 

(Macro Economics) 

Time : Three Hours 

Maximum Marks : 100 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- vk; ds pØh; izokg ls vki D;k le>rs gSa \ fdlh vFkZO;oLFkk 
ds fofHké {ks=ksa esa vk; ds pØh; izokg dh izfØ;k dks le>kb,A 
What do you understand by circular flow of income ? 

Explain the process of circular flow of income to different 

sectors in an economy. 

vFkokvFkokvFkokvFkok    
(Or) 

jk”Vªh; vk; ls lEcfU/kr fofHké /kkj.kkvksa dh O;k[;k dhft,A 

Explain the various concepts of National Income. 
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bbbbdkbZdkbZdkbZdkbZ&&&&2222    
(UNIT—2) 

2- fofu;ksx ls D;k vk’k; gS \ fofu;ksx fØ;k dks izHkkfor djus 
okys rRoksa dh foospuk dhft,A 
What is meant by investment ? Explain the factors 

affecting investment function. 

vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr esa ls fdUgha nksnksnksnks ij laf{kIr fVIif.k;k¡ fyf[k, % 
(i) eqnzk dh iwfrZ ,oa ek¡x 

(ii) cpr rFkk fofu;ksx esa lekurk 
(iii) lqij&xq.kd 

Write short notes on any two of the following : 

(i) Supply and Demand of money 

(ii) Similarity in Saving and Investment 

(iii) Super-multiplier 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    
(UNIT—3) 

3- fQ’kj ds eqnzk ifjek.k fl)kUr dh vkykspukRed O;k[;k 
dhft,A 
Critically explain Fisher’s quantity theory of money. 

vFkokvFkokvFkokvFkok    
(Or) 

feYVu ÝhMeSu ds eqnzk ifjek.k fl)kUr dh vkykspukRed 
O;k[;k dhft,A 
Discuss critically Milton Friedman’s quantity theory of 

money. 

 [ 3 ]   

 (A-33) P. T. O. 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- eqnzk LQhfr vkfFkZd fodkl dh izfØ;k dks fdl izdkj izHkkfor 
djrh gS \ D;k ;g vkfFkZd fodkl dh gh mit gSss \ 
How does inflation affect the process of Economic 

Growth ? Is it a byproduct of economic growth ? 

vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr esa ls fdUgha nksnksnksnks ij laf{kIr fVIif.k;k¡ fyf[k, % 
(i) ‘kqEihVj dk O;kikj pØ fl)kUr 
(ii) lajpukRed LQhfr 
(iii) fQfyIl oØ 
Write short notes on any two of the following : 

(i) Schumpeter’s theory of Business cycle 

(ii) Structural inflation 

(iii) Philips curve 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- jktdks”kh; uhfr D;k gS \ vkfFkZd fodkl dks c<+kus esa bldh 
izHkko’khyrk dks Li”V dhft,A 
What is fiscal policy ? Explain its effectiveness to 

increase the economic development. 

vFkokvFkokvFkokvFkok    
(Or) 

ekSfnzd uhfr D;k gS \ ,d v)Zfodflr ns’k ds vkfFkZd fodkl 
esa ekSfnzd uhfr ds egRo dh foospuk dhft,A 
What is monetary policy ? Discuss the role of monetary 

policy in bringing about economic development in an 

underdeveloped economy. 
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 (A-33) P. T. O. 

 Roll No. ...................................  

DD–2302 

M. A. (Previous) EXAMINATION, 2020 

ENGLISH 

Paper Second 

(Drama) 

Time : Three Hours 

Maximum Marks : 100 

Note : Attempt questions are compulsory.  

1. Explain with reference to context any five of the following 

passages not exceeding 250 words : 20 

(a) O Faustus what is great 

Mephastophilis so passionate 

For being deprived of the joys of 

heaven ? 

Learn thou of Faustus manly 

fortitude 

And scorn those joys thou never 

Shall possess. 

Or 

The star more still, time runs, 
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the clock will strike, 

The devil will come and Faustus 

must be damned 

O I’ll leap up to my God ! who 

pulls me down ? 

(b) She married—O, most wicked 

Speed, to post 

With such dexterity to incestuous 

sheets ! 

It is not, nor it cannot come to 

good. 

But break my heart—for I must 

hold my tongue. 

Or 

To be or not to be that is the 

question 

Whether ‘tis nobler in the mind to 

suffer 

The slings and arrows of  

outrageous fortune 

Or to take arms against a sea of 

troubles. 

And by opposing end them—To 

die—to sleep— 

No more; and by a sleep to say 

We end. 
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(c) But say what you will, ’tis better to be left than 

never to have been loved. To pass an youth in dull in 

difference, to refuse the sweets of life because they 

once must leave us, is as preposterous as to wish to 

have been born old, because we one day must be 

old. 

Or 

I’ll tell thee, fain all, she once used with that 

insolence, that in revenge I took her to pieces; sifted 

her, and separated her failings; I studied’em and 

got’em by rote. 

(d) Our soldiers are always beaten because they are 

fighting only to save their skins : and the shortest 

way to save your skin is to run away. 

Or 

God made them just like us; but He gave them their 

own country and their own language; and it is not 

His will that they should come into our country and 

try to speak our language. 

(e) It’s that when you’re a kid you use the cards as a 

substitute for real experience, and when you’re older 

you use real experience as a substitute for the 

fantasy. 

Or 

Sometimes it’s necessary to go a long distance out 

of the way in order to come back a short distance 

correctly. 

Unit—I 

2. Discuss ‘Dr. Faustus’ as a morality play. 16 
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Or 

Critically comment on the theme of Johnson’s ‘The 

Alchemist.’ 

Or 

Comment on the character of the Duchess as a very 

remarkable woman in a man’s world using evidence from 

Webster’s ‘The Duchess of Malfi’. 

Unit—II 

3. Explain the function of the Gravediggers at the beginning 

of Act V in Hamlet. 16 

Or 

‘Shakespeare is Prospero himself.’ Discuss. 

Or 

Draw a character sketch of Falstaff in Henry IV Part I. 

Unit—III 

4. What does the title ‘The Way of the World’ mean and 

how does the title foreshadow the action of the way ? 16 

Or 

Write a note on the significance of the title ‘She Stoops to 

Conquer’. 

Or' 

Write a note on the plot construction of the School for 

Scandal. 

Unit—IV 

5. Discuss  in detail the function of the Epilogue in the play 

‘St. Joan.’ 

Or 

Critically examine the central theme of ‘Murder in the 

Cathedral’. 
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Or 

Draw a character sketch of Nora in the play “A Doll’s 

House”. 

Unit—V 

6. Discuss how “The Cherry Orchard” is a mixture of 

comedy and tragedy. 16 

Or 

Brecht called his play ‘Mother Courage and Her Children’ 

a chronicle of “the thirty years war”. How far does it fill 

his play ? Discuss. 

Or 

Write a note on the significance of the title “The Zoo 

Story” a play by Albee. 
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 (A-6) P. T. O.  

Roll No. ...................................  

DD–2502 

M. A./M. Sc. (Previous)  

EXAMINATION, 2020 

GEOGRAPHY 

Paper Second 

(Climatology and Oceanography) 

Time : Three Hours 

Maximum Marks : 100 

uksV %uksV %uksV %uksV %     l H k h  pppp kjkjkjkj iz ’ u k sa d ¢  m Ÿ k j  n h f t , A  i z R ; s d  b d k b Z  l s ,d  ,d  ,d  ,d  i z ’ u     

d j u k  v f u o k ; Z  g S A  l H k h  i z ’ u k sa  d ¢  v a d  l e k u  g S a A  

 Attempt all the four questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdk bZbdk bZbdk bZbdk bZ&&&&1111     

(UNIT—1) 

1-  t y o k ; q  f o K k u  d h  i z d ` f r  , o a  f o ” k ;&{ k s =  d k  o . k Z u  d h f t , A   

Describe the nature and scope of Climatology. 

vFk okvFk okvFk okvFk ok     

(Or) 

f u E u f y f [k r  e s a  l s  f d U g h a  nks nks nks nks i j  f V I i f . k ; k ¡  f y f [k ,  %  

¼ v ½  e k u l w u h  i o u sa   
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¼ c ½  p Ø o k r  

¼ l ½  , y  f u u k s  

¼ n ½  y k  f u u k s  

Write notes on any two of the following : 

(a) Monsoon winds  

(b) Cyclone  

(c) El nino  

(d) La nino  

bdk bZbdk bZbdk bZbdk bZ&&&&2222     
(UNIT—2) 

2-  t y o k ; q  i f j o r Z u  D ; k  gS  \  t y o k ; q  if j o r Z u  d s d k j . k k sa  , o a  
i z e k .k k sa  d k  f o o j . k  n h f t , A   

What is climate change ? Give description of causes and 

evidences of climate change.  

vFk okvFk okvFk okvFk ok     
(Or) 

f u E u f y f [k r  e s a  l s  f d U g h a  nksnksnksnks i j  f V I i f . k ; k ¡  f y f [k ,  %  

¼ v ½  m ” . k  d f V c U / k h ;  t y o k ; q   

¼ c ½  ‘ k h r k s ” . k  t y o k ; q  

¼ l ½  e # L F k y h ;  t y o k ; q  

¼ n ½  i o Z r h ;  t y o k ; q  

Write notes on any two of the following : 

(a) Tropical Climate 

(b) Temperate Climate  

(c) Desert Climate 

(d) Mountain Climate 
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bdk bZbdk bZbdk bZbdk bZ&&&&3333     
(UNIT—3) 

3-  l e q n z  f o K k u  d h  i z d `f r  , o a f o ”k ;&{ k s =  i j , d  Hk k S x k s f y d  f u c U /k  
f y f [ k , A   

Write a geographical essay on nature and scope of 

Oceanography.  

vFk okvFk okvFk okvFk ok     
(Or) 

f u E u f y f [k r  e s a  l s  f d U g h a  nks nks nks nks i j  f V I i f . k ; k ¡  f y f [k ,  %  

¼ v ½  l e q n z h  t y  d h  j k l k ; f u d  l a j p u k   

¼ c ½  v a /k  e g k l k x j  d h  l e q n z h  / k k j k , ¡  

¼ l ½  e g k l k x j h ;  y g j k sa  d s  i z d k j  

¼ n ½  T o k j&Hk k Vk  d s  i z d k j  

Write notes on any two of the following : 

(a) Chemical structure of seawater  

(b) Oceanic currents of Atlantic Ocean  

(c) Types of oceanic waves 

(d) Types of Tides 

bdk bZbdk bZbdk bZbdk bZ&&&&4444     
(UNIT—4) 

4-  e g k l k x j h ;  [ k k |  , o a  [ k f u t  l a l k / k u k sa  d k  f o o j . k  n h f t , A   

Give description of oceanic food and mineral resources.  

vFk okvFk okvFk okvFk ok     
(Or) 

f u E u f y f [k r  e s a  l s  f d U g h a  nks nks nks nks i j  f V I i f . k ; k ¡  f y f [k ,  %  

¼ v ½  M sY V k  d s  i z d k j   
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¼ c ½  e g k } h i h ;  e X u r V  

¼ l ½  l k x j h ;  i ; k Z o j . k  i j  e k u o  d k  i z H k k o  

¼ n ½  i z o k y  f Hk f Ÿ k  

Write notes on any two of the following : 

(a) Types of Delta  

(b) Continental Shelf  

(c) Human impact on marine environment  

(d) Coral reefs   
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 (A-34) P. T. O.  

Roll No. ...................................  

DD–2322 

M. A. (Previous) EXAMINATION, 2020 

HINDI 

Paper Second 

¼izkphu ,oa e/;dkyhu dkO;½¼izkphu ,oa e/;dkyhu dkO;½¼izkphu ,oa e/;dkyhu dkO;½¼izkphu ,oa e/;dkyhu dkO;½    
Time : Three Hours 

Maximum Marks : 100 

uksV %uksV %uksV %uksV %    lHkh iz’u vfuok;Z gSaA iz’uksa d¢ mŸkj lØe fyf[k,A 

1- fuEufyf[kr i|ka’kksa dh lizlax O;k[;k dhft, % 30 

¼d½ gqv vizlUUk flo fl;kA cksfy gw¡ iB; rq÷> izfr  

bg cjuh rqe tksxA panz tkslukoku o`Ÿk  

T;ksa #dfefu gfjnsoA izhfr vfr c<+S izse Hkj  

bg xqu gal l:iA uki nqtrkt Hkfu; pj  

cqfYy; lqfirk de/kTt&ujA C;kgu iB~;ks lqxqjnqt  

vkokS lqHkzkr tSpUn lqrA de/k iqav O;kgu lqdt  

vFkokvFkokvFkokvFkok    

pk¡n&lkj y, eq[k ?kVuk d#] ykspu pfdr pdksjsA 

vfev /kks, vk¡pj /kfu iksNfy] ng fnfl Hksy m¡tkjsA 

tqx&tqx ds fofg cw<+ fujl mj dkfefu dksus x<+yhA 

:i l:i eks;¡ dgbr vlEHko ykspu ykfx jgyhA 
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¼[k½ ge u ejSa efjgSa lalkjk 

ge dw¡ feY;k fta;kcugkjkA 

vc u ejkSa ejuSa eu ekuk] rsbZ eq, ftfu jke u tkukA 

lkdr ejS lar tu thoS] Hkfj Hkfj jke jlkbu ihoSA 

gfj efjgSa rks gegw¡ efjgSa] gfj u ejS ge dkgs dw¡ efjgSaA 

dgS dchj eu eufga feykok] vej Hkjs lq[klkxj ikokA 

vFkokvFkokvFkokvFkok    

fuxqZu dkSu nsl dks cklh \ 

e/kqdj ! g¡fl leq>k; lkSag nS cw>fr lk¡p u gk¡lhA 

dks gS tud] tufu dks dfg;r] dkSu ukfj dks nklhA 

dSlks oju Hksl gS dSlks dsfg jl esa vfHkyklh  

ikoSxkS iqfu fd;ks vkiuks] tks js dgSxks xk¡lhA 

lqur ekSl S jáks BX;ks lks lwj loS efr uklh  

¼x½ cgq fof/k [ky lhrfg leq>kokA lke nke Hk; Hksn  

     ns[kkok  

dg jkouq lqu lqeqf[k l;kuhA eanksnjh vkfn lc jkuh  

rc vuqpjha djm¡ iu eksjkA ,d ckj fcyksdq ee vksjk  

ru /kfj vksV dgfr cSnsghA lqfefj vo/kifr ije lusgh  

lquq nleq[k [k|ksr izdklkA dcgq¡ fd ufyuh djb  

    fcdklk  

vl eu leq>q dgfr tkudhA [ky lqf/k ufga j?kqohj cku  

    dh  

vFkokvFkokvFkokvFkok    

uhdkS ylrq fyykj ij] VhdkS tfj rs tjkbA 

Ncfga c<+korq jfo eukS] lfl&e.My eSa vkbZ  
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uSd u tkuh ijfr ;k] ij~;kS fcjg ruq NkeqA 
mBfr fn;S ykSa uk¡fn] gfj fy;S frgkjkS ukeq  

uHk ykyh] pkyh fulk] pVdkrh /kqfu dhuA 
jfr ikyh] vkyh] vur] vk, cuekyhu  

2- HkkolkSan;Z dh n`f”V ls ^’kf’ko`Ÿkk fookg [kaM* dh leh{kk 
dhft,A       15 

vFkokvFkokvFkokvFkok    
fo|kifr ds izd`fr o.kZu dh leh{kk dhft,A 

vFkokvFkokvFkokvFkok    
^dchjnkl ;qx&psruk ds iqjks/kk gSaA* dFku dh foospuk dhft,A 

3- ßlwjnkl esa ftruh lân;rk vkSj Hkkoqdrk gS] izk;% mruh gh 
prqjrk vkSj okfXonX/krk Hkh gSAÞ dFku dh ^Hkzejxhr lkj* ds 
lanHkZ esa foospuk dhft,A    15 

vFkokvFkokvFkokvFkok    
rqylh ds leUo;okn ij izdk’k Mkyrs gq, fl) dhft, fd 
rqylhnkl yksd&dY;k.kdkjh dfo FksA 

vFkokvFkokvFkokvFkok    
eqDrd dkO; ijEijk esa fcgkjh ds izns; dk ewY;kadu dhft,A 

4- fuEufyf[kr esa ls fdUgha ik¡pik¡pik¡pik¡p ij laf{kIr fVIif.k;k¡ fyf[k, % 20 
(i)  uUnnkl dk dkO; 
(ii) nknw dk laf{kIr thou ifjp; 
(iii) ehjk dh HkfDr&Hkkouk 

(iv) jghe dk lkfgfR;d ifjp; 
(v) d`”.kHkDr dfo jl[kku 
(vi) in~ekdj dh dkO;dyk 
(vii) ohjjl ds dfo Hkw”k.k 
(viii) jhfrdkyhu dfo;ksa esa nso dk LFkku 

 [ 4 ]  DD–2322 

 (A-34) 

5- fuEufyf[kr esa ls fdUgha chlchlchlchl iz’uksa ds mŸkj nhft, % 20 

(i) ^i`Fohjkt jklks* ds jpf;rk dkSu gSa \ 

(ii) ^lkfgR;ygjh* ds jpukdkj dk uke fyf[k,A 

(iii) fcgkjh ds xzaFk dk uke fyf[k,A 

(iv) ^jkepfjrekul* fdl Hkk”kk esa fy[kk x;k gS \ 

(v) fcgkjh fdl jktk ds njckjh dfo Fks \ 

(vi) ds’kojfpr egkdkO; dk uke fyf[k,A 

(vii) ^xkxj esa lkxj* Hkjus dh mfDr fdl dfo ij ykxw gksrh gS \ 

(viii) ^dfBu dkO; dk izsr* fdl dfo dks dgk tkrk gS \ 

(ix) ^lqtku fouksn* ds jpukdkj dk uke fyf[k,A 

(x) ^izse ds ihj* dk xk;d fdl dfo dks dgk tkrk gS \ 

(xi)  czt ,oa vo/kh nksuksa Hkk”kkvksa esa fy[kus okys dfo dk uke 
fyf[k,A 

(xii)  ^in~ekor* dkSu lh ‘kSyh esa fy[kh xbZ gS \ 

(xiii)  ^N=’kky n’kd* ds jpukdkj dk uke fyf[k,A 

(xiv)  nknw dfo us dkSulk iaFk pyk;k \ 

(xv)  uannkl ds xq# dkSu Fks \ 

(xvi)  jghe dk iwjk uke fyf[k,A 

(xvii) ^izseokfVdk* fdldh jpuk gS \ 

(xviii) ̂iqf”VekxZ* dk tgkt fdls dgk tkrk gS \ 

(xix)  lardkO; /kkjk ds izfrfuf/k dfo dk uke fyf[k,A 

(xx)  ^jkepfjrekul* esa fdrus dk.M gSa \ 

(xxi)  xksfidkvksa dks fuxqZ.k HkfDr dk Kku fdlus fn;k \ 

(xxii) dchjnkl dh jpuk dk uke fyf[k,A 
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 (A-32) P. T. O.  

Roll No. ...................................  

DD–2422 

M. A. (Previous) EXAMINATION, 2020 

HISTORY 

(Compulsory) 

Paper Second 

¼chloha ‘krkCnh dk fo’o½¼chloha ‘krkCnh dk fo’o½¼chloha ‘krkCnh dk fo’o½¼chloha ‘krkCnh dk fo’o½  
Time : Three Hours 

Maximum Marks : 100 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- tkiku eas lkezkT;okn ds mn; ds dkj.kksa dh foospuk dhft,A  
Discuss the causes of the rise of Imperialism in Japan.  

vFkokvFkokvFkokvFkok    
(Or) 

mnkjokn D;k gS \ baXyS.M esa mnkjokn ds fodkl dk o.kZu 
dhft,A  
What is Liberalism ? Describe the growth of liberalism in 

England.  
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bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- 1917 dh :lh Økafr ds dkj.kksa ,oa ifj.kkeksa dk o.kZu dhft,A  

Describe the causes and results of the Russian Revolution 

of 1917. 

vFkokvFkokvFkokvFkok    
(Or) 

jk”Vªla?k dh miyfC/k;ksa dk ewY;kadu dhft,A  

Evaluate the achievements of the League of Nations.  

bdkbZbdkbZbdkbZbdkbZ&&&&3333    
(UNIT—3) 

3- fo’o vkfFkZd eanh dh izd`fr ,oa ifj.kkeksa ij izdk’k Mkfy,A 

Highlight the nature and results of the World Economic 

Depression.  

vFkokvFkokvFkokvFkok    
(Or) 

bVyh esa Qklhokn ds mn; ds dkj.kksa dh O;k[;k dhft,A  

Discuss the causes of rise of Fascism in Italy.  

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- f}rh; fo’o ;q) ds dkj.kksa ij izdk’k Mkfy,A 

Throw light on the causes of Second World War. 

vFkokvFkokvFkokvFkok    
(Or) 

fgUnh&phu esa jk”Vªokn ds fodkl dk o.kZu dhft,A  

Discuss the growth of Nationalism in Indo-China.  
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bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- xqVfujis{k vkUnksyu dk Lo:i D;k gS \ le>kb,A  

Discuss the structure of Non-aligned Movement.  

vFkokvFkokvFkokvFkok    
(Or) 

dksfj;k dh leL;k ij ,d fucU/k fyf[k,A 

Write an essay on Korean Crisis.  
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 (A-26) P. T. O.  

Roll No. ...................................  

DD–2062 

M. Com. (Previous) EXAMINATION, 2020 

(Compulsory) 

Paper Second 

ADVANCED ACCOUNTING 

Time : Three Hours 

Maximum Marks : 100 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- dEiuh vf/kfu;e] 2013 dh vuqlwph III ds izk:i ds vuqlkj 
dEiuh ds fLFkfr fooj.k dk ,d uewuk cukb,A  
Prepare a specimen of Company’s Balance Sheet in the 

format as per Schedule III of the Companies Act, 2013. 

vFkokvFkokvFkokvFkok    
(Or) 

lat; QwM fyfeVsM us ` 10 okys 100000 lerk va’k fuxZfer 
fd;sA bu ij izfr va’k vxz izdkj jkf’k;k¡ ns; gSa % 
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` 2 vkosnu ij] ` 2 vkcaVu ij] ` 3 izFke ;kpuk ij ,oa ` 3 

f}rh; ;kpuk ijA 
160000 va’kksa ds fy, vkosnu izkIr gq,A bueas ls 150000 va’kksa 
ds va’k/kkfj;ksa dks vkuqikfrd :i ls va’k vkcafVr fd, x, vkSj 
‘ks”k vkosnu&i=ksa dh jkf’k ykSVk nh xbZA vkcafVr va’kksa ds 
vkosnu dh jkf’k dk lek;kstu vkcaVu dh jkf’k ls fd;k x;kA 
jke ftlds ikl 200 va’k gSa] vkcaVu ,oa izFke ;kpuk dk 
Hkqxrku u dj ldk vkSj mlds va’kksa dk mlh le; gj.k dj 
fy;k x;kA eksgu] ,d nwljs va’k/kkjh ds ikl 500 va’k gSa] og 
izFke ,oa f}rh; ;kpukvksa dk Hkqxrku u dj ldk rFkk mlds 
va’k f}rh; ;kpuk ds ckn gj.k dj fy, x,A gj.k fd, x, 
va’kksa eas ls 600 va’k lksgu dks ` 9 izfr va’k dh nj ls 
iqu%fuxZfer fd, x, vkSj bUgsa iw.kZnŸk ekuk x;kA 
va’kksa ds gj.k vkSj buds iqu%fuxZeu ds lEcU/k esa dEiuh dh 
iqLrdksa esa vko’;d ys[ks dhft,A  
Sanjay Food Ltd. made an offer of 100000 equity shares 

of ` 10 each, payable as follows : 

On application ` 2, on allotment ` 2, on first call ` 3 and 

on second call ` 3. 

Applications were received for 160000 shares and 

allotment were made on the pro data basis to the 

applicants for 150000 shares, the remaining applications 

being refused and money refunded. Application money 

paid in excess by the allottees were adjusted with the 

money due on allotment. Ram the holder of 200 shares, 

failed to pay the allotment money and on his failure to pay 

the first call, the shares were forfeited. Mohan, another 

shareholder to whom 500 shares were allotted, failed to 

pay the first and second call amounts and his shares were 
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also forfeited after making the second call. Out of the 

forfeited shares, 600 shares were re-issued to Sohan as 

fully paid on payment of ` 9 per share. 

Pass the journal entries for recording the forfeiture and re-

issue of the shares in the books of company.  

bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- iqufuZekZ.k ls vki D;k le>rs gSa \ vkUrfjd ,oa cká iqufuZekZ.k 
esa vUrj Li”V dhft,A  
What do you understand by reconstruction ? Distinguish 

between internal and external reconstruction.  

vFkokvFkokvFkokvFkok    
(Or) 

31 ekpZ] 2019 dks nks dEifu;ksa ds fLFkfr fooj.k fuEufyf[kr 
gSa % 

fooj.kfooj.kfooj.kfooj.k    
^̂̂̂vvvv****    fyfeVsM fyfeVsM fyfeVsM fyfeVsM 

¼¼¼¼`̀̀̀½½½½    
^̂̂̂cccc****    fyfeVsM fyfeVsM fyfeVsM fyfeVsM 

¼¼¼¼`̀̀̀½½½½    

I.    lerk ,oa nkf;Rolerk ,oa nkf;Rolerk ,oa nkf;Rolerk ,oa nkf;Ro    %%%%      

  va’k/kkjh dks”k %   

  va’k iw¡th ¼ ` 10 iw.kZnŸk½ 2,50,000 3,50,000 

  lap; ,oa vkf/kD; %   

  ykHk&gkfu fooj.k (75,000) 75,000 

  xSj&pkyw nkf;Ro %   

10% _.ki= ` 10 izR;sd 50,000 — 

  pkyw nkf;Ro %   

  O;kikfjd ns; 1,50,000 1,00,000 

 3,75,000 5,25,000 
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II.    lEifŸk;k¡lEifŸk;k¡lEifŸk;k¡lEifŸk;k¡    %%%%      

   xSj&pkyw lEifŸk;k¡ %   

   LFkk;h lEifŸk;k¡ %   

   ewrZ lEifŸk;k¡ %   

   Hkou 1,00,000 2,00,000 

   QuhZpj 50,000 50,000 

   vewrZ lEifŸk;k¡ %   

   [;kfr 50,000 1,75,000 

   pkyw lEifŸk;k¡  %   

   LVkWd 1,50,000 50,000 

   jksdM+ rFkk jksdM+ led{k 25,000 50,000 

 3,75,000 5,25,000 

1 vizSy] 2019 dks ^c* fy- ^v* fy- ds O;olk; dks fuEukafdr 

‘krks± ij Ø; djus ds fy, lger gks xbZ % 

(i) ^v* fy- dk lekiu gks tk,xk vkSj blds va’kksa dk ewY; 

` 8 izfr va’k ekuk tk,xk rFkk ^c* fy- ds va’k dk ewY; 

` 12.50 ekuk tk,xkA 

(ii) Ø; izfrQy dk Hkqxrku 90% lerk va’kksa ds :i eas rFkk 

10% jksdM+ eas fd;k tk,xkA 

(iii) ^v* fy- ds 10% _.ki=ksa dk ifjorZu ^c* fy- ds ` 10 

okys leku la[;k ds 13% _.ki=ksa eas fd;k tk;sxkA 

vki nksuksa dEifu;ksa dh iqLrdksa esa vko’;d iath izfof”V dhft, 

;fn ,dhdj.k Ø; ds LoHkko dk gksA  
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The Balance Sheets of two companies as at 31st March, 

2019 are as follows : 

Particulars 
A Ltd. 

(`̀̀̀) 

B Ltd. 

(`̀̀̀) 

I. Equity and Liabilities :   

    Shareholder’s Funds :   

Share Capital of ` 10 each 

fully paid 2,50,000 3,50,000 

    Reserve and Surplus :   

   Statement of P & L (75,000) 75,000 

    Non-current Liabilities :   

10% Debentures of ` 10 each 50,000 — 

    Current Liability :   

    Trade Payables  1,50,000 1,00,000 

 3,75,000 5,25,000 

II. Assets :   

     Non-current Assets :   

     Fixed Assets :   

     Tangible Assets :   

    Building 1,00,000 2,00,000 

    Furniture 50,000 50,000 

     Intangible Assets :   

    Goodwill 50,000 1,75,000 

     Current Assets :    

    Inventories 1,50,000 50,000 

 Cash and Cash equivalents 25,000 50,000 

 3,75,000 5,25,000 
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On 1st April, 2019 B Ltd. agreed to purchase the business 

of A Ltd. on the following terms :  

(i) ‘A’ Ltd. is to be wound up and its share is to be 

considered as worth ` 8 each and the share of B Ltd. 

is to be considered as worth ` 12.50. 

(ii) Consideration discharged in the form of 90% in 

equity shares and 10% in cash.  

(iii) 10% debentures of ‘A’ Ltd. would be converted into 

equal number of 13% debentures of B Ltd. of ` 10 

each. 

You are required to pass the necessary journal entries in 

the books of both the companies when the amalgamation 

is in the nature of purchase.   

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- lw=/kkjh dEiuh fdls dgrs gSa \ lw=/kkjh dEiuh ds fpV~Bs rFkk 

ykHk&gkfu [kkrs esa lgk;d dEiuh ls lEcfU/kr dkSu&lh lwpuk,¡ 

i`Fkd~ :i ls fn[kkbZ tkrh gSa \ mfpr mnkgj.k lfgr 

le>kb,A  

What is a Holding Company ? What information relating 

to subsidiary companies is to be separately disclosed in 

the Balance Sheet and Profit & Loss Account of the 

Holding Company ? Discuss with suitable example.  

vFkokvFkokvFkokvFkok    
(Or) 

1 tqykbZ] 2013 dks ,Dl fy- us ,sfPNd fuLrkj.k dk fu’p; 
fd;kA mDr frfFk dks mldk fpV~Bk vxzfyf[kr Fkk % 
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fooj.fooj.fooj.fooj.kkkk    `̀̀̀ 

I. lerk ,oa nkf;Rolerk ,oa nkf;Rolerk ,oa nkf;Rolerk ,oa nkf;Ro     

  va’k/kkjh dks”k %  

  va’k iw¡th %  

12000, 10% iwokZf/kdkj va’k izR;sd ` 10 dk 1,20,000 

   20000 lerk va’k] izR;sd ` 10 dk 2,00,000 

  lap; ,oa vkf/kD; %  

  ykHk&gkfu fooj.k (30,000) 

  xSj&pkyw nkf;Ro %  

  5% _.ki= 60,000 

  pkyw nkf;Ro %  

  O;kikfjd ns; ¼ysunkj½ 1,03,000 

 4,53,000 

II. lEifŸk;k¡lEifŸk;k¡lEifŸk;k¡lEifŸk;k¡    %%%%     

   xSj&pkyw lEifŸk;k¡ %  

   LFkk;h lEifŸk;k¡ %  

   ewrZ lEifŸk;k¡ %   

   IykUV 2,00,000 

   pkyw lEifŸk;k¡ %  

   jgfr;k 1,00,000 

   O;kikfjd izkI; 1,50,000 

   jksdM+ ,oa jksdM+ lerqY; 3,000 

 4,53,000 

iwokZf/kdkj va’kksa ij ykHkka’k 30 twu] 2013 rd fn;s tk pqds gSaA 
fuLrkjd us IykUV vkSj LVkWd ` 2,75,000 esa csps rFkk  
` 25,000 dk v’kks/; _.k NksM+dj lHkh jkf’k nsunkjksa ls olwy 
dj yhA mlus lHkh ysunkjksa ds nkos Lohdkj dj fy;s ftuesa ls  
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` 5,000 ds iwokZf/kdkj FksA lekiu O;; ` 1,600 gq, rFkk 
_.ki=ksa dk Hkqxrku 31 fnlEcj] 2014 dks fd;k x;kA 
fuLrkjd dk ikfjJfed olwfy;ksa dk 2% rFkk lerk va’k/kkfj;ksa 
dks nh tkus okyh jkf’k ds 2% ds cjkcj FkkA iwokZf/kdkj va’kksa 
ij ykHkka’k dk Hkqxrku lerk va’k/kkfj;ksa dks Hkqxrku djus ds 
iwoZ fd;k tkrk gSA  
fuLrkjd dk vafre fooj.k [kkrk cukb,A 
X Ltd. went into voluntary liquidation on 1st July, 2013. 

At that date the Balance Sheet was as follows : 

Particulars `̀̀̀ 

I. Equity and Liability :  

   Shareholder’s Funds :  

   Share Capital :  

12000; 10% Pref. shares of ` 10 each 1,20,000 

     20000 Equity shares of ` 10 each 2,00,000 

   Reserves and Surplus :  

   Statement of Profit & Loss (30,000) 

   Non-current Liabilities :  

   5% Debentures  60,000 

   Current Liabilities :  

   Trade Payables (Creditors) 1,03,000 

 4,53,000 

II. Assets :  

     Non-current Assets :  

     Fixed Assets :  

     Tangible Assets :  

     Plant 2,00,000 

     Current Assets :  

     Inventories  1,00,000 

     Trade Receivables 1,50,000 

     Cash and cash equivalents 3,000 

 4,53,000 
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The dividends on the preference shares had been paid 

upto June 30, 2013. The liquidators sold the plant and 

stock for ` 2,75,000 and realised all the bad debts except 

one of ` 25,000 which proved to be irrecoverable. He 

admitted the claim of all the creditors ` 5,000 of which 

were preferential. Expenses of liquidation amounted to  

` 1,600 and the debentures were repaid on December 31, 

2014. The liquidator’s remuneration was @ of 2% on the 

amount realised and 2% on the amount distributed to the 

equity shareholders. Dividend on Pref. shares is paid 

before payment is made to equity shareholders. 

Prepare liquidator’s final statement of account.  

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- nksgjk ys[kk iz.kkyh dh fo’ks”krkvksa dk mYys[k dhft,A ,slk 
dkSu&lk cgqewY; mís’; gS ftldh ;g iwfrZ djrk gS \ ;g 
bdgjk ys[kk i)fr ls fdl izdkj fHkUu gS \ 
State the special features of Double Account System. 

What is the valuable purpose which it serves ? How does 

it differ from Single Account System ? 

vFkokvFkokvFkokvFkok    
(Or) 

fuEukafdr lwpuk,¡ U;w cSad fyfeVsM dh iqLrdksa ls 31 ekpZ] 
2019 dks yh xbZ gSa % 

 ` 

C;kt vkSj dVkSrh izkIr dh 36,95,738 

fu{ksiksa ij C;kt fn;k 20,32,452 

deh’ku] fofue; vkSj nykyh 2,00,000 
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fdjk;k izkIr fd;k 55,000 

fofu;ksxksa dh fcØh ij ykHk 2,00,000 

osru vkSj HkŸks 2,00,000 

lapkydksa dh Qhl ,oa HkŸks 30,000 

fdjk;k vkSj dj fn;k 1,00,000 

Mkd vkSj rkj 50,286 

cSad dh lEifŸk ij kl 30,000 

ys[ku lkexzh vkfn 50,000 

izkjfEHkd O;; 15,000 

vads{k.k Qhl 5,000 

fuEufyf[kr lwpuk,¡ vkSj nh xbZ gSa % 

(i) ,d xzkgd] ftldks ` 10,00,000 vfxze ds :i eas fn;s 

x;s Fks] fnokfy;k gks x;k gS vkSj ;g vk’kk dh tkrh gS 

fd mldh fj;klr ls 50% gh izkIr gks ldsxkA 

(ii) vU; _.k Hkh Fks ftuds fy, ` 1,50,000 dh O;oLFkk 

djuk vads{kdksa us vko’;d le>kA 

(iii) 31 ekpZ] 2018 dks Hkquk, gq, fcyksa ij vlekIr dVkSrh 

` 12,000 FkhA 31 ekpZ] 2019 dks Hkquk;s gq, fcyksa ij 

vlekIr dVkSrh `16,000 FkhA 

(iv) vk;dj ds ` 6,50,000 dk izko/kku dhft,A  

(v) lHkh izkjfEHkd O;; vifyf[kr dhft,A  

fo/kku ds vuqlkj ykHk&gkfu [kkrk cukb,A vko’;d ekU;rk,¡ 

dhft,A  
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The following figures are extracted from the books of the 

New Bank Ltd. as on 31st March, 2019 : 

 ` 

Interest and discount received 36,95,738 

Interest paid on deposits  20,32,452 

Commission, Exchange and Brokerage  2,00,000 

Rent received 55,000 

Profit on sale of investment 2,00,000 

Salaries and allowances  2,00,000 

Director’s fees and allowances  30,000 

Rent and Taxes paid 1,00,000 

Postage and Telegrams  50,286 

Depreciation on bank’s properties  30,000 

Stationery etc. 50,000 

Preliminary Expenses 15,000 

Audit Fees 5,000 

The following further information is given : 

(i) A customer to whom a sum of ` 10,00,000 has been 

advanced has become insolvent and it is expected 

that only 50% can be recovered from his Estate.  

(ii) There were also other debts for which a provision of 

` 1,50,000 was found necessary by the auditors.  

(iii) Rebate on bills discounted as on 31st March, 2018  

` 12,000. Rebate on bills discounted as on 31st 

March, 2019 ` 16,000. 

(iv) Provide ` 6,50,000 for income tax.  

(v) Write-off all the preliminary expenses.  

Prepare Profit & Loss Account in accordance with the 

law. Make necessary assumptions.  
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bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- fofu;ksx dk D;k vk’k; gS \ izfrHkwfr;k¡ fdrus izdkj dh gksrh 
gSa \ Li”V dhft,A 
What is the meaning of investment ? How many types of 

securities are there ? Explain.  

vFkokvFkokvFkokvFkok    
(Or) 

1-4-2012 dks ehry dksyjht fy- us Hkwfe dk ,d VqdM+k iV~Vs 
ij fy;kA U;wure fdjk;s dh jkf’k izFke o”kZ esa ` 2,000] 
f}rh; o”kZ eas ` 4,000 vkSj mlds ckn okys o”kks± eas izfro”kZ  
` 6,000 Hkqxrku ds fy, j[kh xbZ vkSj vf/kdkj ‘kqYd dh jkf’k 
40 iSls izfr Vu j[kh xbZA y?kqdk;Z dh jkf’k dks iV~Vs ds dsoy 
izFke rhu o”kks± esa gh vifyf[kr fd;k tk ldrk gSA 1-4-2012 

ls 31-3-2016 rd okf”kZd fudkys gq, dks;ys dh jkf’k;k¡ Øe’k% 
fuEu izdkj Fkha % 1000; 10000; 18000 vkSj 20000 VuA 

bu lkSnksa ls iV~Vk ysus okys ehry dksyjht fy- dh iqLrdksa eas 
vko’;d [kkrs [kksfy,A  
On 1-4-2012 the Mithal Collieries Ltd. took a piece of 

land on lease. A minimum rent of ` 2,000 in the Ist year,  

` 4,000 in the IInd year and thereafter ` 6,000 per annum, 

is to be merging upto a Royalty of 40 paise per ton, with 

power to recoup shortworkings over the first three years 

of the lease only. The figures of annual output for the 

years from 1-4-2012 to 31-3-2016 were : 1000; 10000; 

18000 and 20000 tons respectively. 

Open the necessary accounts in the books of the lessee 

Mithal Collieries Ltd.  
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Roll No. ...................................  

DD–2802 

M. A./M. Sc. (Previous)  

EXAMINATION, 2020 

MATHEMATICS 

Paper Second 

(Real Analysis) 

Time : Three Hours 

Maximum Marks : 100 

Note : All questions are compulsory. Attempt any two parts 

from each question. All questions carry equal marks. 

Unit—I 

1. (a) If r' is continuous on [a, b], then prove that r is 

rectifiable and : 

( ) | ( ) |
b

a
r r t dt′Λ = ∫  

(b) State and prove fundamental theorem of calculus.  

(c) Let f be monotonic on [a, b] and let α be continuous 

and monotonically increasing on [a, b]. Then prove 

that : 

R ( )f ∈ α . 
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Unit—II 

2. (a) Show that the sequence { }nf , where 

( ) (1 )nnf x nx x= −  does not converge uniformly on 

[0, 1].  

(b) In a power series 
0

n
n

n

a x
∞

=
∑  converges at the end 

point x = R of the interval of convergence (– R, R), 

then prove that it is uniformly convergent in the 

closed interval [0, R].  

(c) State and prove Weierstrass’s M-test for uniform 

convergence as series.  

Unit—III 

3. (a) Prove that a linear operator A on a finite 

dimensional vector space X is one to one if and only 

if the range of A is all of X, that is if and only if A is 

onto.  

(b) Find the maximum and minimum values of the 

function : 

2 2( , ) 2 3 2f x y x y x= − − , 

subject to the constraint 2 2 1.x y+ ≤   

(c) Let Ω  be the set of all invertible linear operators on 

R .n  if A ∈ Ω , B L (R )n∈  and 1B A A 1,−− <  

then prove that B .∈ Ω    

Unit—IV 

4. (a) State and prove Lebesgue’s monotone convergence 

theorem.  
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(b) Show that “A Borel measurable set is Lebesgue 

measurable.” 

(c) Let {A }n  be a countable collection of sets of real 

numbers. Then show that : 

11

* A *(A )n n

nn

m m
∞ ∞

==

 
≤  

 
∑∪ . 

Unit—V 

5. (a) State and prove Minkowski’s inequalities for L
p
-

spaces.   

(b) State and prove Jensen’s inequality.  

(c) Show that the class B of all µ*-measurable sets is a 

σ-algebra of subsets of X. If µ  is µ* restricted to B, 

then µ  is a complete measure on B. 
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Roll No. ...................................  

DD–2402 

M. A. (Previous) EXAMINATION, 2020 

POLITICAL SCIENCE 

(Compulsory) 

Paper Second 

(Indian Government and Politics) 

Time : Three Hours 

Maximum Marks : 100 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- Hkkjrh; lafo/kku ds lzksrksa dh foospuk dhft,A  

Describe the sources of Indian Constitution. 

vFkokvFkokvFkokvFkok    
(Or) 

Hkkjrh; lafo/kku ds oSpkfjd vk/kkj dh leh{kk dhft,A  

Comment on the ideological background of Indian 

Constitution.   
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bdkbZbdkbZbdkbZbdkbZ&&&&2222    

(UNIT—2) 

2- Hkkjrh; jk”Vªifr dh fuokZpu i)fr dks le>kb,A  

Explain the election procedure of Indian President.  

vFkokvFkokvFkokvFkok    

(Or) 

efU=ifj”kn~ ds v/;{k ds :i eas Hkkjrh; iz/kkuea=h dh fLFkfr dh 
leh{kk dhft,A  

Comment on the position of Prime Minister of India as 

the head of the Council of Ministers.  

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- ^jktuhfr dk vijk/khdj.k* vkSj ^vijk/k dk jktuhfrdj.k* ij 
,d fVIi.kh fyf[k,A  

Write a note on ‘Criminalisation of Politics’ and 

‘Politicisation of Crimes.’  

vFkokvFkokvFkokvFkok    

(Or) 

Hkkjrh; jktuhfr ds le{k pqukSrh ds :i eas lkEiznkf;drk dk 
foospu dhft,A  

Describe the communalism as a challenge before Indian 

Politics.  

bdkbZbdkbZbdkbZbdkbZ&&&&4444    

(UNIT—4) 

4- jkT;iky dh fLFkfr dh vkykspukRed foospuk dhft,A  

Critically examine the position of Governor.  
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vFkokvFkokvFkokvFkok    
(Or) 

mPp U;k;ky;ksa ds laxBu vkSj {ks=kf/kdkj dks Li”V dhft,A 
Clarify the organisation and jurisdiction of High Courts.  

bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- dsUnz cukecukecukecuke jkT; ds lUnHkZ eas jkT; Lok;Ÿkrk dh ek¡x dh 
leh{kk dhft,A  
Comment on demand of State Autonomy in the context of 

Centre vs. State. 

vFkokvFkokvFkokvFkok    
(Or) 

Hkkjr eas jkT; jktuhfr dks izHkkfor djus okys dkjdksa dk 
foospu dhft,A  
Discuss the factors affecting the state politics in India.  
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Roll No. ...................................  

DD–2522 

M. A. (Previous) EXAMINATION, 2020 

SANSKRIT 

Paper Second 

¼¼¼¼O;kdj.k’kkL=e~O;kdj.k’kkL=e~O;kdj.k’kkL=e~O;kdj.k’kkL=e~½½½½    

Time : Three Hours 

Maximum Marks : 100 

lwpuk %lwpuk %lwpuk %lwpuk %        les”kka iz’ukukeqŸkjkf.k laLd`rHkk”k;So ys[kuh;kfu%A 

bdkbZbdkbZbdkbZbdkbZ&&&&I 

1- v/kksfyf[krs”kq ds”kkf pr~ iiii pppplaKkfo/kk;dlw=kf.k fofy[; 

lksnkgj.ka lw=kFkksZ ys[;%& 20 

(i) o`f)% 

(ii) unh 

(iii) f?k 

(iv) xfr 

(v) lo.kZe~ 

(vi) fu”Bk 
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(vii) lafgrk 

(viii) izx`áe~ 

(ix) fV 

bdkbZbdkbZbdkbZbdkbZ&&&&II 

2- v/kksfyf[krs”kq lw=s”kq ds”kkf pPprq.kk±prq.kk±prq.kk±prq.kk± lksnkgj.ka O;k[;k dk;kZ&  

     20 

(i) izkfrifndkFkZfy ifjek.kopuek=s izFkekA 

(ii) drqZjhfIlrrea deZA 

(iii) lk/kdrea dj.ke~A 

(iv) Øq/knzgs.;kZlw;kuka ;a izfr dksi%A 

(v) Hkh=kFkkZuka Hk;gsrq%A 

(vi) mHk;izkIrkS deZf.kA 

(vii) vk/kkjks·f/kdj.ke~A 

(viii) lg;qDrs·iz/kkusA 

bdkbZbdkbZbdkbZbdkbZ&&&&III 

3- v/kksfyf[krs”kq iz;ksxs”kq ds”kkf pPprq.kk± prq.kk± prq.kk± prq.kk± flf)% dk;kZ%& 20 

(i) okxFkkZfooA 

(ii) d`”.kfJr%A 
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(iii) Hkwrcfy%A 

(iv) iwoZdk;%A 

(v) lIr”kZ;%A 

(vi) i pxoe~A 

(vii) ‘kkdikfFkZo%A 

(viii) loZjk=%A 

bdkbZbdkbZbdkbZbdkbZ&&&&IV 

4- v/kksfyf[krs”kq iz;ksxs”kq ds”kkf pPprq.kk± Pprq.kk± Pprq.kk± Pprq.kk± flf)%  

dk;kZ&   20 

(i) ps;e~A 

(ii) bR;%A 

(iii) dkjd%A 

(iv) Lukre~A 

(v) ‘kSo%A 

(vi) oSurs;%A 

(vii) xksRoe~A 

(viii) y?kqre%A 

(ix) ,f/krR;e~A 
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bdkbZbdkbZbdkbZbdkbZ&&&&V 

5- fuEukf rs”kq d;ksf’pn~ };ks% };ks% };ks% };ks% egkHkk”;kuqlkja fVIi.kh ys[;k%&  

      20 

(i) ‘kCnkFkZlEcU/k%A 

(ii) lk/kq’kCnkuka iz;ksxL; ifj.kke%A 

(iii) ‘kCnL; ifjHkk”kkA 

(iv) O;kdj.kk/;;uL; eq[;iz;kstukfuA 
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Roll No. ...................................  

DD–2352 

M. A. (Previous) EXAMINATION, 2020 

SOCIOLOGY 

(Compulsory) 

Paper Second   

(Methodology of Social Research) 

Time : Three Hours 

Maximum Marks : 100 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- Kkuksn; D;k gS \ lkekftd foKkuksa ds lanHkZ esa bldh fofHké 
fo’ks”krkvksa dh foospuk dhft,A 
What is Enlightment ? Describe its various characteristics 

with reference to Social Sciences. 

vFkokvFkokvFkokvFkok    
(Or) 

izR;{kokn ij nq[khZe ,oa ikWij ds ;ksxnku dh foospuk dhft,A 
Discuss Durkheim’s and Popper’s contribution on 

Positivism. 
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bdkbZbdkbZbdkbZbdkbZ&&&&2222    

(UNIT—2) 

2- lkekftd vuqla/kku ls vki D;k le>rs gSa \ blds pj.kksa dh 
foospuk dhft,A 

What do you understand by Social Research ? Discuss its 

steps. 

vFkokvFkokvFkokvFkok    

(Or) 

^midYiuk* ls vki D;k le>rs gSa \ midYiuk ds fofHké lzksrksa 
dh foospuk dhft,A 

What do you understand by ‘Hypothesis’ ? Discuss the 

various sources of hypothesis. 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- lkekftd vuqla/kku easa losZ{k.k dh mi;ksfxrk dks le>kb,A 

Explain the utility of survey in Social Research. 

vFkokvFkokvFkokvFkok    

(Or) 

fun’kZu D;k gS \ bldh i)fr;ksa dk o.kZu dhft,A 

What is Sampling ? Explain its methods. 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    

(UNIT—4) 

4- xq.kkRed vuqla/kku dk D;k vFkZ gS \ xq.kkRed vuqla/kku dh 
izfof/k ,oa i)fr;ksa dh foospuk dhft,A 

What is the meaning of qualitative research ? Discuss the 

techniques and methods of qualitative research. 
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vFkokvFkokvFkokvFkok    
(Or) 

leadksa ds izfØ;kdj.k ij ,d ys[k fyf[k,A 

Write an essay on Data Processing. 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- vifdj.k dh eki ls D;k rkRi;Z gS \ vifdj.k dh fofHké ekiksa 
dh foospuk dhft,A 

What is meant by measures of dispersion ? Discuss the 

various measures of dispersion. 

vFkokvFkokvFkokvFkok    
(Or) 

lkekftd vuqla/kku ds uSfrd eqíksa dh foospuk dhft,A 

Discuss the ethical issues of social research. 
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